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{(1,2),(1,3),(2,3),(3,3)}

{(1,3),(2,4)}

{(1,4),(2,2),(3,3)}

{(1,2),(2,2),(3,2)}

#03 Functions Total points 5/5

Name *

Section *

Let A={1,2,3}, B={2,3,4}, then which of the following is/are function(s) from
A to B? *



1/1

Graph 1 is a function but Graph 2 is not.

Graph 2 is a function but Graph 1 is not.

Both are functions.

None is a function

2/2

-6,6

6

-6

None of the above

Look at Graph 1 and Graph 2. Which of the following statement is
correct? *

What are the pre-image(s) of 39 under f? *
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